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WOMEN'’S STUDIES
PAPER - 1I

Note : This paper contains hundred (100) objective type questions of two (2) marks each. All
questions are compulsory.

1.  Whoamong the following feminists referred Women's studies as “the academic arm of women’s
movement’, a potent instrument, playing a deliberate and active role in the battle for people’s
minds” and ‘autonomy continues to be battle cry of both’.

(1) Uma Chakravarti (2) Neera Desai
(3) Veena mazumdar (4) Maithreyi Krishnaraj
2. Arrange the following initiatives with regard to women’s Studies in chronological order :

(a) Establishment of Indian Association of Women'’s studies.
(b)  First National Conference on Women'’s Studies.

(c) Publication of “Towards Equality Report’

(d) Second National Education Policy

Code :

1) @ ®),@© @ @) () ®k) @) @ @) ®) @@ [ @ (@, b)@ @

3.  What is the common focus of most feminist therapies today ?
(1) Improving living conditions for women around the world.
(2) Creating a more gentle, loving, woman centred world.

(3) Showing how society’s view of treatment of non-dominant groups impacts mental
health.

(4) Seeking balance in the un-equal power relationships between women and men.

4.  Conservatives say that ‘Biology is destiny’. What did they mean and which one of the following
is correct ?

(a) People are born with the hormones, anatomy and chromosomes of either male or female.

(b) Females are destined to have a much more burdensome reproductive role than are
males.

(c) Males will, other things being equal, exhibit “masculine’ psychological traits whereas
females will, other things being equal, exhibit ‘feminine” psychological traits.

(d) Society should preserve this ‘natural order’” making sure that its men remain “manly’
and its women ‘womanly’.

Code :
1) (@) ®) () (d) (2)  (a) and (d) only
(3) (c) and (d) only (4) (b) and (c) only
porsss [N : Papect




HigAT 3T
99U - II

fader: =9 ywATA # 9 (100) IE-fashed™a U €1 US® U & 8 (2) ik &1 |t uee sifremd €

1. frefafea § 9 foeg TRiardt = afeen steam o1 arcqd AR eTidie w6t dferen s’ ue vifaeet
e, S 5 HIE o] 9o B Uk Gehfoud SR afera offest frumn € o1k ¢ et S b1 Jgu 3
TINT - Ja= g ?

(1) 31 =Igherdt ) fucEE
(3) o ASHER (4) N FORS

2. Wi e deHt fAfatad wrEiswal &l STh Hat hIesh AT aR SHared Hifsd
(a) YR Afgen 1A 9 (e THIawRM S i~ RElS) i o

T Afgel STEIEA A+

‘Tared geaferel A’ o1 gehreH

1) @, ®), @) (d 2 (© b)@) (D G (®) @ @ @ @ (@ ®) ) @

3. NTohdl SITYeRIY TRiane] Ul § SR W fohd o1q W ot feam Sram § 2
(1) fowa R afeaneti o T =t feafadl § gur w1
(2) eIfees I, Tiege, Afeet higd arareRoT 1 i & |

(3) % T foh R-T ATl THEI o T FAER o 9K H AT 1 ToraR AH{Ew &@eed &l vy
PRIECIETGIRS

(4) wfcensii 3R el o o= IR-WeR) & v Heell § Hgar i |7 ST |

4. Eleareal & weH ¥ fo ' Sra-fomm fafa €1 st oo sty € 9o fFefafea ¥ S SR E@ €2
(a) T SFATA RO ST Afecrsii % g, IR T 31 U (ShiHIST) o Ut B 1
(b) Hamcars ¥ geui i o | afgensti wt stfue sifse it frafa graa €1
() afe o= ardl H FaMar ®, @ ot qew geuitaa’ Aeiate fosamd wefifa sem safes afs

31 STl § A W, A off afgen R goa wEeme R geiid s |

(d) HHN ! 3H UTehideh 2 i SHMC @A AfeT foh TEul o1 qesca ad Tl sl AR o R |
e :

(1) (@, (), (@) (d) (2) e (a) 3R (d)

(3) O (c) 3 (d) (4) e (b) 3R ()

vorss [ ITNANENI 3




porsss |

For which of the following reasons early feminist approaches to development have been
criticised ?

(a) Only looking at women
(b) Not engaging with development agencies
(c) Having unrealistic aims

(d) Ignoring women'’s roles in production

Code :
D (@) ®) (©) (d) (2)  (a), (b) and (c) only
(3) (a), (b) and (d) only (4) (c) and (d) only

Which of the following are the aims of feminist research ?

(a) To expose the patriarchal tools of socio-cultural and economic practices of family and
society that lead to women’s suppression.

(b) To enquire into the origin and basis of the discriminatory practices against both men
and women.

(c) To bring women to the central position from invisibility.

(d) To provide data on most of the sensitive problems of women’s issue.
Code :

(1) (a) and (b) only correct (2) (@) (c) and (d)

(3) (@ (b) (c) and (d) (4)  (b) (¢) and (d)

Which are the limitations of scientific research methods for women’s studies ?
(a) Complexity of social phenomenon

(b) Dynamic nature of social phenomenon

(c) Limited capacity of predictability

(d) Cultural relativism

Code :
(1) (), (b) and (d) only (2) (@), (b), () and (d)
(3) (a), (b) and (c) only (4) (@), (c) and (d) only

Assertion (A) : In patriarchal society, all economic development causes the marginalization
and devaluation of women'’s labour.

Reasoning (R) : In patriarchal society, the nature of house work and women’s responsibility
for carrying it out are unchangeable i. e constant.

Code :

(1) Both (A) and (R) are wrong
()

(3) (A) is correct but (R) is wrong
(4)

Both (A) and (R) are correct and (R) is the correct explanation for (A)

Both (A) and (R) are correct but (R) is not the correct explanation for (A)

‘ 4 Paper-II



5. faomma & an & yRfvs TRt gfteswon # fFr=fafed § 9 feg SRor @ ster=n =t T € 2
(a) haa Afeensli W =M 7 & forw)
C

(b) fomrra TSIfEET < Ty SraEa 9 i o faw)

(c) STaTfaeh 35 W@ & faw |

(d) 3cared # wfgernstl & fiemrstl F el H % fau)

W‘:

1) (@), B), (), (d) (2) % (a), (b) 3R (o)
(3) A (a), (b) N (d) (4) W (c) 3R (d)

6. RO SEYH & Frefafed § 9 wiF @ wea €2
(a) URER AR TS i AR ik IR i Tgfaai & TH fugemicts el sl Ihe
AT ST AT & U i ST <d § |
(b) gESl Td Afgensil Sl o FaeTh SeHERRl ISl % Hd 3R STER 1 91 &I |
(c) wfgerel =l stgeaal i feafq § ita feafq | @)
(d) wfeen g it Afererie Gogeier Trenel & aR ¥ o7k Sucred I |

1) dad (a) 3R (b) ) (), (o) 3 (d)
3) (@), (b), () ¥R (d) 4) (), () ¥R (d)

7.  afgen seAeAl v At gy fafuat @i frefafea 8 9 o9 o g § 2
(a) WIS qRERAT S Sffeetdl

(b) HEITSR qfREreT o1 Tfaefial Tey

(c) YA oKl Eifhd e

(d) WiEpfas AR

<

(1) % (a), (b) 3R (d) () () (b), (©) ¥R (d)

(3) FA (a), (b) 3R (0) (4) FIA (), (0) ¥ (d)

8. ey (A): Tuggaras g § 9oft YR 1 oMY fasra ufgen o9 1 diHidieo 3R

ST T & |

@ (R) : fIgeaTcHs TaTsl | =Xe] 1 1 W& IR 3§ 6 i Afeatiel ol et
1S TGS TEl A 7 AT o feer wd B |

He :

1) (A) 3R (R) S Terd ¥ |

) (A)aﬁt(Raﬂ‘fﬂﬁ%am(R,(A)ﬁﬂﬁrw%‘l

(3) H@%W(Rm%

(4) R) <M1 W& € T (R), (A) T T =0 T2 7

porst \IIHIHIIHIH|||\||H||H\||\|H|\|||||\||H||\||\|H|| ;



10.

11.

12.

Which of the following statements are wrong with regard to women’s liberation movements ?
(a) They focus on the goals of equal rights under the laws.

(b) They focus on equal access to education, careers and political power.

(c)  They challenge the cultural patterns of male dominance in the family and personal life.
(

d) They challenge against livelihoods and poverty of women.

Code
(1) (@), (b), (c) and (d) (2) (@), (b), (c) only
(3) (a), (b) and (d) only (4) (b) and (c) only

Which of the following is correct with regard to “identity politics” in the feminist context in
India ?

(1) Minority, caste and Dalit issues

(2) Race and ethnicity

(3) Gender, race, caste, class and minorities
(4) Gender, race, caste, minorities

Which of the following problems can be better studied by qualitative method of data ?

Fertility rate in the country.

(a)
(b) Views of men and women on strains in husband wife relations in joint families.
(c) Children’s experiences with the teachers in school.

(

d) Women’s labour force participation in organized sectors.

Code
1) (@) ®) () (d) (2)  (a), (b) and (c) only
(3) (b), (c) and (d) only (4) (b) and (c) only

Which among the following book reveals that the white hetrosexual, middle class women
were discontented and unhappy despite living the “Ideal” female life but were unable to
explain why is “the problem that has no name”.

(1) The second sex (2) Feminine mystique

(3) The second stage (4) The subjection of women

vorss | ITHANRAN :



10.

11.

12.

TfgeTtsil shi SIS Heieht snieieri o o § fefefed § 9 9 |1 e Teld © 2
a) o HIE o SHaTd THE ARHRI % el W I < ¥ |

b) A forem, HRER IR Temfas wfed d THE 989 R 9 i S

) 3 ke IR =Afaa Siam # qB% 9o & Hikhiash Ued sl gAdt < |
d) o Hfgeneii Ft sshferr 3R e S AT < ¥

<< :

(1) (@), (b), (o) 3R (d) (2) 9 (a), (b) 3R (o)

(3) I (a), (b) IR (d) (4) &= (b) ¥R (o)

(
(
(
(

IRA | TRaret e | e wi UG’ % Hey § fefafed § 9 wF 9 wa w?
(1) 3TeqEET, Sfd iR 3fera dee g8

(2) USSR Fera
(3) Siex, yenfa, sifd, avf iR sTeaders
(4)

SieY, g, Sifd, STeqdeT®

stieRel st o fafy gR1 frefafed § @ wF o guensil &1 S a9 fhan S g € 2
(a) < H TS ST

(b) EgF TRARI | fd-Tit o Haell | q9r9 o aR H qeul AR Afgatel & fo=m |

(c) Thal H fremhl o T F= & AT |

(d) wfed &=l § 98 9 | Afgenstl st YRR |

EE:
1) (@), ®), (), (d) (2) ad (a), (b) 3 ()
(3) e (b), (o) 3R (d) (4) = (b) @R ()

frefafead # 9 fore Twae # o8 Sco@ € T ' voa, famfe, mepm anfta afgand ¢ sreet’ wfeen
Siter S o STeee TR IR 799 off, WY 9 I ol uM | sty off fo ¢ g g w1 § foaen
g A T 71

(1) < 9vs 9 (2) wiatE fafes
(3) T UHUS W (4) T GeSIRM ST FHA

vorss [ ITNANENI 7



13. Match the List - I and List - IT :
List - I List - II
(Books) (Authors)
(a) Black feminist thought (i) MacKinnon Catharine
(b) Sexual Harassment of working women (i) Ann Oakley
(c) The women’s Bible (iii) Patricia Collins Hill
(d) Sex, Gender and society (iv) Elizabeth Cady Stenton
Code :
@ ) © @
O @ O @ W)
@ @) O @ @)
@) @ @ @) @
@ O @ @ W)

14. Which among the following feminist identified “alienation” as the concept that will provide
us with a theoretical framework to accommodate main insight of Marxist, radical,
psychoanalytic and even liberal feminist thought ?

(1) Iris young (2) Alison Jagger  (3) Juliet Mitchell (4) Mary Daly

15. Which of the following statements are correct of the “Dual Market Theory” ?

(a) Sex discrimination to employ women in a secondary sector.

(b) Equal opportunity legislation make the employers respecting the law, but not employing
women in their firms.

(c) Gender disparity in employment characterised by low skill levels, low earnings, easy
entry etc...

(d) More women will be employed instead of men workers in both primary and secondary
sectors.

Code :

1) (@ ®) © @ 2 (@), (), (© only

(3) (a) and (d) only (4) (c) and (d) only

16. What is correct about tabulation ?

(a) Understanding of any table does not require any specialized knowledge.

(b) Tabulation is used for economy of time and space.

(c) Tabulation helps in understanding with clarity the objectives of study.

(d) Tabulation can be used for any type of data.

Code :

(1) (a), (b) and (c) only (2) (b) and (c) only

(3) (a) and (d) only (4) (b) and (d) only

17. In which of the following years, India formally declared its intention to put its economy
through a process of structural adjustment and brought forth a comprehensive package of
policy measures for that purpose ?

(1) 1991 (2) 1996 (3) 2002 (4) 1986
porsss [T ; Fapec



13. g - [ 3R gel - 11 &l gafad i :

At - 1 A - 11
(q&Th ) (e )
(a) I MR oie (i)  Afrar FHedd
(b) G B 3% afcht goA (i) T STRait
() T IHA'H dmEfaa (i) SEfern wifaw fea
(d) W, Siet TS HEEe (iv) TfersTmey el WA
<<
@@ (b) (o (d)
1 @) @ @) )
() (v) (@) () (i)
(3) (D) (@) (v) (i)
@ @O @ @) @)

14. fr=fafed § 9 frg e 3 oerma’ &1 T U STauRom & €9 § Yg9M1 S g8 qredanal, 39,
TfaverIUER] 3R SeRER! TRIa faurl # g s w1 guEfsh w9 % fou dgifas
ThAeh SUCTed HUTH ?

(1) SERE 47 (2) e SR () Sfowe e (@) WS

15. ‘ST Aihe R’ & Hey B fefafed # 9 S @ we wEr €2
(a) ifiTeh Sgure o RO Afgensii #1 fgdaw & § AshR fierar 71
(b) FHM STAER Hal faum Feeet & fau A &1 F0= w1 ™ a9 €, /g o ST
wH! H Afgenst Fl ARl T8 <d © |
(©) IR H <ifiten STl St favand e e TR, 1 o, e werw anfe ¥
(d) Wt AR fodiae IHi € & § 9 SR 6t 96 Afeal AR S et TSR fezn

STTE |

EE:

1) (@), (b), (c), (d) (2) = (a), (b), (c)
(3) hee (a) AR (d) (4) FE (c) 3 (d)

16. GRUEA % IR H freAfafaa § 9 o & §?
(a) forelt Tmolt ot TweM & fae foreht fomia 9 ot strereeRar & Bt €1
(b) HRUNFA 1 YN THY R TIM i o=d & fore foman wman 2
(c) WRUEA 3199 & 3l &l T ®9 § 93 § Tl i ¢ |
(d) HRUNEA 1 G TRt off TR & Al o ferg fohan S geha €1
<< :
(1) %9 (a), (b) 3R (o) (2) e (b) 3 ()
(3) I (a) I (d) (4) FadA (b) 3R (d)
17. Trfafea o § forg o wRa 7 siiv=ifer €9 § o799 36 3R &1 =0 &t off fof 97 7ot steferasen

I HEANTT FHREISA 1 Ufhal ¥ TSRAT =Tedl § 3R 36 TS gg 39 ST HaiTd SUr fohu 9 ?
1991 1996 (3) 2002 (4) 1986

(1) (2)
vorss [ ITNANENI 9



18.  Which of the following explains ‘Crude birth Rate” ?
(1) Number of children below five years of age per thousand of women in the reproductive
age group per year.
(2) Number of births per thousand of women in the reproductive age group per year.
(3)  Number of births per thousand of the population per year.
(4) Total number of births per year in the country.
19. Assertion (A) : Huge gender inequalities bring down India’s Human Development Indicator
rankings and put India below their neighbours like Srilanka and china.
Reason (R) : Women’s access to education, health and nutrition and economic
participation is low in India.
Code :
(1) (A) is correct and (R) is wrong
(2) (A) is wrong and (R) is correct
(3) Both (A) and (R) are correct and (R) is the correct explanation for (A)
(4) Both (A) and (R) are correct but (R) is not the correct explanation for (A)
20. Which among the following are the characteristics of Gender socialization.
(a) The process by which males and females are informed about the norms and behaviours
associated with their sex.
(b) Masculinity and femininity are reinculcated in the behaviour of boys and girls.
(c) Promoting androcentric social norms leading to oppression of men.
(d) Reinforcement of Gender stereotypes.
Code :
1) (@), O, (©) and (d) (2) () and (b) only
(3) (a) and (d) only (4) (a), (b) and (d) only
21. Which of the following are correct about third wave feminism ?
(a) Emphasis on Women’s Rights Movements
(b) Emergence of Intersectionality
(c) Focus on a more post-structuralist interpretation of Gender
(d) Change in Gender Stereotypes
Code :
(1) (@), (), ©) and () (2) (), (b) and (c) only
(3) (b), (c) and (d) only (4) (b) and (c) only
22.  Among the following feminists who has analysed ‘Reproduction through the lens of male
alienation” while criticizing Shulamith Firestone’s views on female biology as the cause of
women’s oppression.
(1) Mary O’ Brien Mary Dally (3) Kate Millet (4)  Juliet Mitchell
porsss [ TR IHHIIHHIHHI\ 1 Fapec




18.

19.

20.

21.

22.

frefafed § ¥ & @ fased * o1elifd S X7 1 oA & € 2

(1) 9fd o9 g 31 o < 9id Tk BSIR Afeetieli W5 9y 9 %1 30 & g o) qe |
(2) 9fd = g A o ot Uid T g "igetiesdll WS o ol sl bl HEA |

(3) ufd o Ufd Tk TR SHE@ T S 0 a1l = i GeA |

(4) < H g ¥ T T A a== Hi e G|

AfireRer (A) . RI AT STEUHAIT YRA & A ot gaehish iR e o = ot § foew
IRA 79 TSEt <3 S o siefert iR <9 9 of f=rel T W 21
& (R) : IRA B f3reTT, T W 4ol ek Afgenstl i ugd aur enfefer qriei ogd FH ¥ |

(1) (A) 9@ g 3R (R) 7Te@ §

(2) (A) 7@ § AR (R) WL

(3) (A) 3R (R) I W € A (R), (A) ! F&l ARAT T |

4) (A) 3R (R) I W ¥ fohg (R), (A) T T =Ame 7 2

ifiTeh TSR st Frrefafed & 9 & ot fagan €2

(a) o fshan ek wreem & wfgensii o qedl &l 3k fov 9§ Helfud Areel 31X SHemi & o
H SRR foerdt 7

(b) TS IR A HA & HAER | A IR T Sl 9T GH: SR i St 7 |

() TEUYHM HIHIfSIh HMGE! ol seal <1 fTa J&sl 1 <HF Bl ¢ |

(d) Siet gaet wfedl T Jacieh

(1) (@), (b), (c) ¥R (d) (2) e (a) AR (b)
(3) A (a) AR (d) (4) % (a), (b) 3R (d)

RaTE o gt =Ror & oaR B frefafea § 4 M a4 wgr €2
(a) Wfgen AR e | o

(b) SHAIHEIEAT (SHRATAL) I 399

(

(

A

¢) Sl & AfYFH IW-FEAER AT W 9
d) iex dadt wfeal d afed

1) (@) (b), (c) ¥R (d) (2) & (a), (b) ¥R ()
3) A (b), (c) 3R (d) 4)  FId (b) 3R (0)

frfafed § 9 fha TREt 3 Afeeistl & e & HRU & ®9 § Afgen Sifaeh! TR Y[erHe
R o o=l ol STl shitd gU ' I8Y STelTe o TSIRT ¥ U5 o1 fageiwor foan ?
(1) F T aEA 2) B Sol (3) e e (4) Siferre R

) (
vorss [ ITNANENI i



23. Assertion (A) : Now a days employed wives make marital interactions a little more
complicated and create adjustment problems in the family.

Reason (R) : The multiple roles of working women come in conflict with their expected
and actual conduct.

Code :

(1) Both (A) and (R) are true and (R) is the correct explanation of (A)

(2) Both (A) and (R) are true, but (R) is not the correct explanation of (A)
(3)  (A) is true, but (R) is false

(4) (A) is false, but (R) is true

24. Match the List - I and List - II :
List - I List - II
(Crime against women as per crime (Percentage)

record Bureau statistics 2016)

(a) Cruelty by Husband or his relatives i 25.0%
(b) Assault on women with internet to outrage her modesty (i) 32.6%
(c) Kidnapping and Abduction of women (i) 19.0%
(d) Rape (iv) 11.5%
Code :

@ (® (9 (9
® @O @ @) (@)
2 @ @ @) (@)
() @) @) @O @)
4 @ @ (@v) (i)

25.  Which among the following world conference addressed for the first time “The growth of
women’s power and sustainability of development are ecologically tied”- Environment is a
concern for women ?

(1) Nairobi conference - 1985

(2) Beijing conference - 1995
(3) Copenhagan conference -1980
(4) Beijing +10 conference - 2005

26. Which among the following item is not considered to measure women’s empowerment ?
(1) Women's mobility

(2) Women's freedom from family domination
(3) Women's participation in the Reproductive role
(4) Women's economic security and contribution to family support
rorsss [N 2 Fapec




23.

24.

25.

26.

ARTRAT (A) 1 STSIhe IR A el AfGATd SeTfeeh e o1 orgr sifeet o Tt § iR 9Rer
H g et Iuead 3eue e € |

e (R) : FHTehRTSTt Afgentstl i e yfersti ¥ 37 difsd iR arafas =eeRr | T
BAIE |

) (A) 3ﬁ'{(R IHI W& € a9 (R), (A)aﬁﬂ'ﬁa}T@T%\'l

) (A) 3R (R) I WL T, fohg (R), (A) T W =0 T 7
) (A)ﬂ%"’r% =g (R) TTora %1

) (A) T B, g (R) & 2|

T - 1 h1 Gt - 11 |1 GHfeTd i

T - 1 g - 11

( 3Ty FehTS =0 ok 2016 & MRl & AR (wfeera)

HigeTaAl oh Ui TUe )
(a) Ufd a1 3Tk AN g Hdl (i) 25.0%
(b) WfeeTel & 3 | & & fAT Fetie o SR 37 T FHA (i) 32.6%
(c) wfgemsii s U (iii) 19.0%
(d) AR (iv) 11.5%
e

@@ () (o (d
1 @ @) @) ()
(2) (@) @) @) (i)
3) (@) @Gv) (@) ()
(4) (@) @) (v) (i)

frefafead # 9 ford fova Teem o wgell 9 9% el 741 o for ' afeensti @t ufe ¥ gfg oiR fawm
&I Faqar aRfEfae g 9 T g 9 I B - wafew dfeaned & foae T foa & @ 52
(1) el T e - 1985

(2) ST e - 1995

(3) HRIUTHA FHTH -1980

4) ST + 10 e - 2005

qigeT TR0l 1 3TTeheld Hid & fou frafafad § 9 fag ag W fomm 72 forar S g2

(1) wfgensl st Tfasierd

(2) TIRETe T=a § Afgal S STE]
(3) usHA yftrent # wfgasd st uriieRt
(4) WfeeneT S M A IR IRER T Te=d § AreH

4
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27.

28.

29.

30.

What are the characteristics of hypothesis ?
(a) Vastness

(b) Clarity

(c) Related with available techniques

(d) Related with majority of population

Code :
(1)  (a) and (b) only (2) (@), (b), (c) and (d)
(3) (a), (b) and (c) only (4) (b) and (c) only

Which of the following is correct with regard to comprehensive Programme for adolescents
in India, which has a sharp focus on adolescent’s sexual Health introduced in 2014 ?

(1) Adolescents Health Development Programme

(2) Kishori Shakti Yojana

(3) ‘Rashtriya Kishor Swasthya Karyakram’

(4) Rajivgandhi scheme for Empowerment of adolescent girls “‘SABLA’

Assertion (A) : Feminist Thinkers have criticized Karl Marx and Fredrich Engels for their
lack of systematic study of the specific oppression of women.

Reason (R) : Marx and Engels believed that class and capitalism are fundamental for the
oppression of women and ignored gender and patriarchy.

Code :

(1) Both (A) and (R) are correct and (R) is not the correct explanation of (A)
(2) Both (A) and (R) are wrong

(3)  (A) is correct (R) is wrong

(4) Both (A) and (R) are correct and (R) is the correct explanation for (A)

Which of the following pair of indicators and ranking of India in the Global Gender Gap
Index 2017 is not correctly matched ?

(1) Economic Participation and opportunity - 139
(2) Educational attainment - 112

(3) Health and survival - 121
(4)

4 Political Empowerment - 15
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27.

28.

29.

30.

qReheam o1 frefafed o 9@ o o fogoad 82
a)
)

3QAA
E

IRA H 2014 H URY foRw 70 forsiii &g =Amaeh sedshy’, forem fonsiii o I wameen W fow oo fean
T ®, % Hey § frfafad § 9§ o 91 e ® 2

(1) TReR @ree fow™ wEima

(2) Toruit wifert Arsn

(3) U fReIR wEreey HwrEwd
(4)

RSIE R IR E IR NESIETURISEIRCC I

AwYA (A) :  ANAR! foumenl - Afgenedi & fafire T o1 afem =@ 9 % & foag #e
e 3R Fefier e o1 eTeire T & 21

T+ (R) : AR SR THed 1 Ha o o ot 3iR Ysfrang wfeen <07 & foaw 9a a § 9o 328
Siex IR fagen =t et &t |

<< :

(1) (A) 3R (R) 31 T & g (R), (A) FT W& = T 2

(2)  (A) 3 (R) A Teret €

3) (A) ¥ ® fohg (R) T T |

(4) (A) 3R (R) S F € A (R), (A) ! &l AT |

‘e oI STHHHAT geehich 2017 ' H gaehi 3R R i k71 o Heay § f=fafed § 9 sF @
T gafad & 2

(1)  3Tfeien e SR STaeR - 139

(2) Toem wife - 112

(3) @A AR ITLSHA - 121

(4) TSR FLRITART - 15
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31. Which among the following are correct about Reproductive Role of women ?

(a) The childbearing and rearing responsibilities of women

(b) Domestic tasks undertaken by women

(c) Maintenance of the workforce and future workforce

(d) Participation of women in the maintenance of water and sanitation at community

level

Code :

(1) (@), (), ) and (d) (2) (), (b) and (©) only

(3) (a) and (b) only (4) (c) and (d) only

32. Match the List - I with List - II :
List - I List - II
(Laws, Policy and Programmes) (Year)

(a) National Policy for children @ 2013

(b) National Plan of Action for children (i) 2007

(c) National commission for protection of child Rights (i) 2012

(d) The protection of children from sexual offences (iv) 2016

Code :

@ ) © @

O 6 @ @ @)

@ O Gv @) @

@) (v 6 @ )

) O G @ )

33. Which of the following is correct about focus of Qualitative Research ?

(a) Meanings over Numerical measurement

(b) Deduction over Induction

(c) Constructionism / Phenomenology over objectivism / Realism

(d) Depth over Generalisability

Code :

(1) (), (©), and (d) only (2) (@), (), (c) and (d)

(3) (a) and (b) only (4) (c) and (d) only

34. Assertion (A) : In the case of India, the process of reshaping patriarchy has itself been very
slow.

Reason (R) : In Indian society, the family and the household still continue to play
productive and social insurance roles which they fulfill mainly through the
patriarchal ideology.

Code :

(1) Both (A) and (R) are correct and (R) is correct explanation for (A)

(2) Both (A) and (R) correct but (R) is not correct explanation for (A)

(3) Both (A) and (R) are wrong

(4) (A) is wrong and (R) is correct

11T 1 —




31. Wfeensii & usA yfier & ar # frafafed § & o1 9 fawes w&@ €2
(a) Tfeensii ot T T IR ITHT T i FSHIRET
(b) wfeened gRI ferq S et sRe] el
(c) oauM iR wfass § wrferet Sl ST Tl
(d) TIEH TR W A iR Sresdl & WEd § Afeatisii sl et
He
M) @), @) () () () F (), (b) ()
(3) F (@) S () (4)  FA (o) 3R (d)
32. eIt - [ Gl - 11 & |1e Gaferd i
et - 1 et - 11
(T, ifq T wrEwd ) (=)
(a) U o Hifd i) 2013
(b) TS e HRASH (i) 2007
(c) TSI a1 TR HIET0 SRR (iii) 2012
(d) = i A STUE H grRaT (iv) 2016
<
@ (b) (9 (d)
O @ @@ @) ()
) @ Gv) (i) (i)
3 (v) @ @) (i)
@ @O @) @) ()
33. TUMCHe STIHYM & i & aR H Frafafed § § F T @@ T2
(a) HE&ATCHSE |G & oS T W Hhd
(b)  SANTHA o SIS R W iRy
(c) Troneramare/Fensfers & s ffiqars/ gfdwraare W wred
(d) ETHT=ITHIOT &HT Shi SIS e T Rk
e
(1) % (), (O 3R (d) 2 (@) (b), © 3R ()
(3) A (a) 3R (b) (4) I (o) 3R (d)
34. SNMURT (A): RA & A | fUgHmT 1 741 3MHR < 1 Yishan T & agd &l W ¥
e (R) : IR T | TRER IR sRaR s1eft off Scuresh SR arifieh gRem ot e
fruma € 59 9 g w9 ¥ fugamrers foar o/ & Areem 8 90 Y 2
<
(1) (A) 3R (R) AT T & 91 (R), (A) T T =0 ¥
2) (A) 3R (R) I 92 T foRg (R), (A) 1 T2 =A@ T T
(3) (A) 3R (R) S TTed % |
4) (A) T T 3R (R) W& B
roras [ HNINAINAAN L Fapert




35. Match the List - I with List - II :

List - I List - II

(Census year) (Sex Ratio)

(@) 1951 @i 946

(b) 1971 i) 930

() 1991 (i) 927

(d) 2011 (iv) 943

Code :

@@ () (9 (d)

1) @ @ @) (@)

(2) (@) @@ @ (@)

G @ @) @) (@v)

@ @O @ (@) (i)

36. Assertion (A) : The Fordist norms of women dependent on the male bread-winner is being
replaced by the increasing individualization of women under globalization
process.

Reason (R) : The increasing integration of women in the labour market has promoted

new definitions of gender roles and has led to changes in the social structure.

Code

(1) (A) is true and (R) is false

(2) Both (A) and (R) are true but (R) is the correct explanation of (A)

(3) (A) is false and (R) is true

(4) Both (A) are (R) are false and (R) is not the correct explanation of (A)

37. By which of the following methods, can a feminist researcher study the impact of some new

teaching method on the performance of girl students of a school in a village ?

(1) ‘Before after” experimental design only

(2) By having an experimental group, control group-experimental design only

(3) By diagnostic design only

(4) By both ‘before after’” and by having an experimental group - control

38. Which among the following is correct about the main objective of National Health Policy of

2017 ?

(1) Improve Health Status through concerned policy action in all sectors and expand
preventive, promotive, curative, palliative and rehabilitative services provided through
public health sector with focus on quality

(2) Improve Health Status through concerned International agencies and expand preventive
promotive and curative services provided through public health sector with focus on
quality

(3) Improve Health Status through public-private partnership and expand palliative and
rehabilitative services

(4) Improve Health Status through public policy and expand preventive, promotive and
curative services, provided through public health sector with focus on quality

porsss | RNRUA AN 1 Fapec




35.

36.

37.

38.

T - 101 Gt - 11 |1 GHfed i

et - 1 -1I
( SO 9 ) ( T )
(a) 1951 (i) 946
(b) 1971 (i) 930
() 1991 (iii) 927
d) 2011 (iv) 943
EA\R‘:

(@ () (© (@
(1) @@ @ @) (iv)
(2) (@) (@) @) (@)
3 @ (@) @) (iv)
4 @ (@ @Gv) ()

MUY (A) :  ITY Uleendl (3TSih) W AfGel TfHd o Fa4 § ®IE & HAHeS ol T 316
JH SR Ffshall o ST=TId Afgensll ol 9gd JATHIRIHT o W T |

e (R) : g ISR H Afgetiell o dgd FHrehe | Sied yfient i =it afumn =1 g9eH fiaen
T T THY WA T | IRad gan § |

) (A)E@%W(R)W%I
) (A) 3R (R) I WL 7, 3R (R), (A) T T R 7
(3) (A) e ® iR (R) W& T
) (A) 3R (R) I Terd ¥ fHG (R), (A) TR AR TG 7
frfafed o @ foa fafy g1 i e sTdameal foret i % Whet & BE1SH & fae w
F 72 foreror faferdl o gume 1 277 FR Fehal § 2
(1) eI ‘98 a1e §' JANTCH AfHehed g |
(2)  helel YA THE, TEf THg-TarmeHe 3ifyehed gr |
(3) oholel fEHTcHeR 31fyehed gRI|
(4) ‘TR A H' SR YANTHS §HE - A S 6 g

frefafed § 4 & T TR Hifd, 2017 % T2 3299 % 9N § 9@ 72

(1) |t &= § gefya fifa sl & gr e feufa § guR K3 qe0 e W SIH 7d g
ISk TTEe &3 o HIEgH ¥ Y& ohl ST olfet! (HaNIcHeh, TicdTesh, STRITIhRI, TTEehi] qefl
WA Ha el arsl &l faR &

(2) Heifyd sty TSifear g T fefd # GUR &M, a9 Jorerdl W &M od U s
TS 95 o T1eAH 9 Sf SH drell (HarTcass, Ticaeed adl TR RI Jarsti ol fodr e

(3)  HresifeR-fsit Wrfiert gru Temees feafd § QR <M1 qen TR Te e oy Heiel gensii
1 TR hAT

(4) HESIR Hifd g Tomees fearfa H UR M1 a4 T[ure R &AM <d U HIeSI e Wee &5 g1
Y hi ST &t FarTcaeh, Yicdes a0 SARFIRRI Jaredi o1 forar s
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39. Which of the following are correct about descriptive and diagnostic research designs ?
(a) Both the research designs are much more structured.
(b)  Both differ little from exploratory research design.
(c) The research questions of these research designs are based on prior knowledge about
the nature of research problem.
(d) Both the research designs are applicable to any type of research problem.
Code :
(1) (@), (b), (c) and (d) (2)  (a), (b) and (c) only
(3) (a) and (c) only (4) (c) and (d) only
40. Which of the following provision is introduced by the ministry of Women and Child
Development in 2017 to provide safety to women in distress situations ?
(1) Regulation of websites (2) Panic Button on mobile phones
(3) Women Helpline (4) Mobile police stations
41. Match the List - I with List - II :
List - I List - II
(Type of Research) (Explanation)
(a) Action Research (i)  Oriented towards measuring organizational
performance
(b) Evaluation Research (i) It seeks to implement policy through the research
itself
(c) Experimental Research (iii) Designed to test a hypothesis under controlled
conditions
(d) Case study Research (iv) Itisnotdesigned to compare one individual or group
to another
Code :
@@ (b) () (d)
O O 6@ @ W)
2 @ @ (@v) ()
G @ @O @) (@)
@4 (v @& @ ()
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39.

40.

41.

auiTeTe SR e STHY™ 2ifyshedl & R § frefafed § 9 &1 9w ad@ €2

(a) TSI STTEYH fYhed ST Wi 1

(b) 3 T ATy ST ATHM sy & erer fum €1

(€) T TIHuM Afehedl % STTHYM YT STTH HHE S Yhid & IR § gd I W e 2
gl

() 3 I STEEH ey fordt ot YR S STTEH THE W A B 2|

<< :

(1) @), ®), © (@) () FF (a), (b) ¥R (c)

(3) A (a) 3R (c) (4) FA () IR (d)

Hfge IR a1at foeE Hae™ 3 Gahe & feufadlil § wfeansti &1 gean e & & fag 2017 §
frefafead & @ == @1 gowm e 2

(1) =R = fafae= (2) HERd ®E W UfE a2
(3) U TeHaE (4) HeEd Yfaq €IH

T - 1 =it - 11 |19 gAfad hifsd .
T - 1 g - 11
( ITET T YhT) (=are)
(a) M MY (TRE =) () ETSAH® FME & H9H H 3R G
(b) WA Y (R RT=) (i) 39 WY 5N & Afa AR 1 TI&T I S § |

(c) AT ¥NY (iii) T feufali o 1w fonelt uRehea & wliero & o
fafa

(d) <afed A WY (iv) forelt T safo 3to/en 9 &t T | o B SHHI
fmtor & fepan ST R

(d)
(iv)
(1)
(1)

(1)

\II“II\IIHHH z




42. Which among the following targets are correct to achieve global target of 2020, which is also
termed as target of 90 : 90 : 90 : for HIV / AIDS ?

(@) 90% of all people living with HIV know their HIV status

(b) 90% of all people diagnosed with HIV infection receive antiretroviral therapy

(c)  90% of all people receiving antiretroviral therapy will have palliative services

(d) 90% of all people receiving antiretroviral therapy will have viral suppression

Code :

(1) (@), O, (© and (d) (2) (@), (b) and (c) only

(3) (a) and (b) only (4) (a), (b) and (d) only

43. Assertion (A) : Globalization in the process of integration of a country into world society
will exacerabate gender equality.

Reason (R) : Women continue to engage in “unpaid” work and increasingly participate
in informal labour market which exclude women from “domestic political
process” and loss of control to global pressures.

Code :

(1) Both (A) and (R) are correct and (R) is the correct explanation for (A)

(2) Both (A) and (R) are correct but (R) is not the explanation for (A)

(3)  (A) is correct but (R) is wrong

(4) (A) is wrong but (R) is correct

44. Arrange chronologically the Institutions established in India to conduct New Research on
women with the aim of achieving socio-economic and political transformation in India.

(a) Centre for Women Development Studies

(b) Anveshi Research Centre for Women’s Studies

(c) Institute of Social Studies

(d) Research centre for Women’s Studies SNDT Women's University

Code

1) @, @ (b) (@ @ @ b)) G (@ @bk @ (© O d) @
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42. 2020 % Sfves oed, 59 T=.emE. S/ Te® & T 90 : 90 : 90 1 @A ot FHel G T, I W HA
& foru frfafed § 9 ®F & T & ® 2

TE. 3T, & UfHd 90% AT ! WM., o aR | 70t fRarfa st SHert &1
T, 3T, 31, WhHUT &l I & aTel 90% Tl @l Tt 2T amstat 3U=R fiet |
Tt R Tetel STIR 9 A a6 90% A bl YISt Hard fHer |

T 21 a5t STAR W i et 90% A bl Teed THH Hard faer |

@), (b), (c) ¥R (d) (2) ad (a), (b) 3 ()
e (a) 3T (b) (4) % (a), (b) 3R (d)

43. Afuered (A) :  fd 3o 1 fove OO & WY Thihd HA Ht UfhA § AvATeRI oifiTeh T

) feafa 1 oI @e S|

qh (R): Afged ¢ 7o’ e HET IR Wt § iR =i 99 9ISk | 9g =g

L

1
2

(1)
(2)
(3)
(4)

4

AT Tl € ST Afgensti bl sReg Terifaen Ffeham § o T § SiR Sfveh qaet o
31 W i T =@ T

(A) 3R (R) ST T2 § a1 (R), (A) T =& T

(A) 3R (R) S T&t € T (R), (A) 1 Tl === 7146
(A) W& ¥ foeg (R) ToTd T

(A) TTea § foReg (R) 92T R

44, A H WHIRSeh-3Mff 3R TerHifae IRad @M & 3L Aigensil | T91 STHUE & & foag
IRA H TG 1 T8 FEATA ! HIAHHATER 1@ :

()
(b)
<)

(
(d)

e :

1)

(
porsss ||

Hfgan fas™ 1o &=

Afgel AT &G AU STIHEH s
HHITSToh 3TEE A

Afgel A ATHYH s, TH.UA. 1.3 Afeen fovafarme™

b

) (
[l

@), (c

)
I

d) @ @ b)© ) @) (@@ @ b @) (©®)@ @

),
I 2




45. Match the List - I and List - II :

List - I List - II
(Year) (UN theme of International Women’s Day)
(a) 2015 (i)  Planet 50-50 by 2030 : step it up for Gender Equality
(b) 2016 (i) Women in the changing world of work : planet 50-50 by 2030
(c) 2017 (i) Empowering women, Empowering Humanity : picture it
(d) 2018 (iv) Time is now : Rural and urban activists transforming women’s lives
Code :
@ ®) © (@
U @ @ 6w
@ @ O @ @)
G) @) O @ )
@) @ O G @)

46. Assertion (A) : Now-a-days even the parents of backward caste communities in small
villages of India are able to achieve the desired family size and the desired
gender composition of children.

Reason (R) : Now-a-days backward caste communities in the small villages have easy
access to advance reproductive technology and abortion facilities.

Code :
(1) Both (A) and (R) are correct (2) Both (A) and (R) are wrong
(3)  (A) is correct but (R) is wrong  (4) (A) is wrong but (R) is correct

47. Arrange the following Organizations/ Associations chronologically with regard to the year
of their inception.

(@)
(b)

() Indian Association for women’s studies

All India Democratic Women’s Association

Association of Lady Entrepreneurs of India

(d) National Association of working women
Code :

1) @, ()@ (@ 2 (&) (© @ @& G (@ @bk @ (@ ©), @), b)

48. Who amongst the following said that “Women’s liberation is crucially concerned with the
area of politics which is experienced as personal” ?

(1) Shulamith Firestone (2) Kate Milett
(3) Betty Friedan (4)  Juliet Mitchell
rorsss [N 2 Fapec




45

46.

47.

48.

Tl - 1 3R gl - 11 1 gafad Hife

e - 1 et - 11
(&) ( STt wieen feaq W wyE g @t o)
(a) 2015 (i) 2030 T, TE H At 50 - 50 : TfTH THMA & fTC ST =g
(b) 2016 (i) R I sQerdt gftal § Afge : 2080 T W' H G4l 50 - 50
(c) 2017 (iti) T TR & A TR : TH HeYAT hifSC
(d) 2018 (iv) 379 TH 3T A1 S : WO SR IR FHrEwAl Aieensdi o Sted H sgere o
<< :
@@ () (9 (d
1) @) @@ G @)
(2) (@) @@ @) ()
®) (v) (@) () (i)
4) (@) @@ @) (@)
ARTRT (A) : T R & BIC Tal & fasel Sfaai & Aar-faar ot aier 1 aifsd sTHR
3R Fifsd SieX & o= e T od & |
q& (R): 3SRt BIE el H fasel Tfaal ot U= Seiq ot Grifient iR mefura gigensii
O
< :
1) (A) 3R (R) <T@t ) 2) (A) 3R (R) I Terd
3) (A) W@ & fReg (R) 7@ B (4) (A) e ® fog (R) W& €1

FrAfafad SaHi/Fei Sl 3Teh! TAMTAT & T4 o FeH H HIChATTIR @ :
a) AfEael YR lshdilIeh Afga o

b) TEITHUEE 31k Tl TEU=R 31 gfean

) 3fea THfAT WR i wI

d) YA THIUEE S afeh gHa

(
(
(
(

frefafea 8 @ foram war o o afeenedi &t gfaa ToHifa & &9 9 Aol €9 § Sy gt 8
STeeR erve saferTa &9 @ B &' 2

(1) Y=Y HEEH 2) e fiere
(3) gt WhIe @) Sferre fa
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49. Which of the following is correct about ‘Aggrieved women” under Sexual Harassment of
women at workplace (Prevention, Prohibition and Redressal) Act of 2013 ?
(a) Women who are engaged directly with an employer
(b) Women who are engaged indirectly with a contractor, but she does not necessarily
have to be a salaried employee.
() Women who visit to any workplace in the capacity of being a contract worker
(d) A student working as an intern with a firm
Code :
(1) (@), (), © and () (2) (), (¢) and (d) only
(3) (a), (b) and (c) only (4) (a) and (c) only
50. Which among the following are correct about “National Mission for Empowerment of
Women” (NMEW) scheme 2016-2017.
(a) The mandate of the scheme is to strengthen inter-sectoral convergence of programmes,
Policies and schemes for women both at the centre and state.
(b) It was approved as a centrally sponsored scheme during eleventh plan.
(c) The scheme is now implemented on the basis of 60 : 40 centre state sharing of funds.
(d) Ministry of Human Resource Development is the Nodal Ministry of the scheme.
Code :
(1) (a), (b), (c) and (d) are correct (2) only (a), (b) and (c) are correct
(3) only (a), (b) and (d) are correct (4) only (a), (c) and (d) are correct
51. Which of the following Institutions initiated May 28th as World Menstrual Hygiene
Management Day (MH Day) ?
(1) UNICEF
(2) WASH United
(3)  Ministry of Women and Child Development
(4) UNDP
52. What is correct about operational definitions ?
(a) Operational definitions bridge the conceptual theoretical level with the observational
empirical level.
(b) Operational definitions are devised for the convenience of the researcher.
(c) Operational definitions create confusion in writing research report.
(d) Operational definitions provide for their empirical application.
Code :
(1) (a) and (d) only (2) (b) and (c) only
(3) (c) and (d) only (4) (b) and (d) only
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FRied | Afgatrsdl o1 oifiten Icdted (FHarw, afavy wd gfad) stfyf=m, 2013 < siada ‘difea
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gt Afee SRR fHYH (TH.TH.E S, ) ST 2016-2017 % aR § frafafed § 9 sF-9

T EE 2

(a) S TISHI 1 ST hg 3R ToF SH1 Wl R Afgensd § Hafed srisha, Afadl o @i &
3T~ & aftrer =i gge & 2

(b) TH ARG Joadd IS %k QRE hea g YIS Ao o €9 H Sgifed T e o

() 9 ISHI % HEEA & faC % R T 60 : 40 F T7ud § Fferai wem & €
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e

1) (@) ), () 3R (d) T (2) 9 (a), (b) 3R (c) TA T

(3) A (), (b) 3R (d) & T (4) FFE (a), (c) 3N (d) T B

frafafaa § O foem geen 3 28 w2 <1 fava wifge ud wreg yeivE foow (TH.wE. ) J9H i
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(3) Tfeen iR 9t o Tore™
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1) %I (a) 3R (d) (2) FaA (b) 3R (c)
(3) A () 3R (d) (4) FI9 (b) 3R (d)

)
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53. Which of the following pairs is not correctly matched with First Woman in India ?
(1) First woman to receive Bharatratha - Mrs. Indira Gandhi
(2) First woman to receive Olympic Medal - P.V. Sindhu
(3) First woman Minister in Government - Rajkumari Amrit Kaur
(4) First woman Ambassador - C.B. Muthamma
54. Who amongst the following during the ‘He for She Campaign” said that “Achieving gender
equality requires the engagement of women and men, girls and boys, it is everyone’s
responsibility”.
(1) Kofi Annan (2) Antonio Guterres
(3) Ban Ki Moon (4) Boutrous Boutrous Ghali
55. Assertion (A) : In the developing countries, many of the traditional functions of the family
and the household are getting replaced by marketed commodities and
services.
Reason (R) : The very nature of gender relations in family in developing society is radically
changing from dependency proneness to independence.
Code :
(1) Both (A) and (R) are wrong
(2)  (A) is correct but (R) is wrong
(3) Both (A) and (R) are correct but (R) is not the correct explanation for (A)
(4) Both (A) and (R) are correct and (R) is the correct explanation for (A)
56. Which of the following is correct with regard to Gender Budgetting in India ?
(1) Gender Budget has allocation of column “A” with 100% and column ‘B" with 70%
(2) Gender Budget allocation with 70% for column ‘A" and 30% for column ‘B’
(3) Gender Budget allocation with 30% for column ‘A" and 100% for column ‘B’
(4) Gender Budget allocation with 100% for column ‘A’ and 30% for column ‘B’
57. Which of the following could be said to have prevented the “trickle down effects’ in Indian
planning ?
(a) Increased dependence of agriculture on purchase inputs and privately managed
irrigation
(b) More employment of labour by larger landholding farmers
(c) Lowered participation of women in agricultural workforce due to new technology
(d) The failure of Green Revolution
Code :
(1) ( ) only (2) (a) and (b) only
(3) (a) and (c) only (4) (b) and (d) only
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IRd § vgelt Afgen’ o Hed # fAfafed § 9 sH-91 3 gafad & © 7
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58. Match the List - I and List - IT :
List - I List - II
(National Education Policy) (Emphasis)

(a) National Policy on Education, 1968 (i) Three language formula
implemented in the secondary
education

(b) New Education Policy on Education, 1986 (i) Conduct a Common Entrance
Examination on all India basis for
admission to professional and
technical programme

(c) National Policy on Education, 1992 (iii) Removal of disparities and to
equalise educational opportunities

(d) The Draft New Education Policy, 2017 (iv) Quality education across all levels
and also to make education more
skill development oriented

Code :

@ ) © @

O 6 @ G W)

@ O G @ )

@) G @) @ o

@) @ G @) @

59. Assertion (A) : ‘DNA finger printing’ has become a powerful tool to establish paternity
and identity of criminals in rape and assault cases.

Reason (R) : Trace evidences such as hairs, saliva and dried semen are adequate for DNA

analysis.

Code :

(1) Both (A) and (R) are true and (R) is the correct explanation of (A)

(2) Both (A) and (R) are true, but (R) is not the correct explanation of (A)

(3)  (A) is true, but (R) is false

(4) (A) is false, but (R) is true

60. Which of the following are the aims of Naila Kabeer’s Social Relations framework related to

Gender Analysis ?

(a) To analyse existing gender inequalities in the distribution of resources

(b) To emphasize human well-being as the final goal of development

(c) To emphasize participatory methodology to the analysis of gender issues

(d) To analyse relationship in between people, their relationship to resources activities and

their interaction with institutions

Code :

(1) (a), (b) and (d) only (2) (a) and (d) only

(3) (b)and (c) only (4) (@) () (©) and (d)
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58. et - [l Gt - 11 & |1 Gaferd iy
el - 1 et - 11
(g fora ifa ) (foma 9 wX 5t feam )
(a) Tera faen =fifd, 1968 ()  wreAfHes e o o g3 <l Ar] fohan |
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EZREiIRISE|
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<< :
@@ () (o (d
1 @ @) () ()
2 @ @) @ @)
@) (@(v) @) @@ @
4) (@) @) @) @
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e
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(3) (A)ﬂ%’r% =g (R) TTord 1
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(b) o & sifdw dea % 9 § AT FHedO W T
(c) <ifiten el o facromn & wewrft foran vgfa @ =@ &
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SR ST Toreetoor
<<
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61. Assertion (A) : The theory of Eco-feminism is multifaceted and multilocated and support
the existing social structures across the world rather than individuals.
Reason (R) : Eco-feminism adresses the oppression of the natural world and that of
women by patriarchal structures of power.
Code :
(1) Both (A) and (R) are correct (2) Both (A) and (R) are wrong
(3) (A) is correct (R) is wrong (4) (A) is wrong (R) is correct
62. Which arrangement of the following would show the correct sequence of Demographic
Transition as typically associated with economic development ?
(a) High birth rate with high death rate
(b) High birth rate with low death rate
(c)  Declining birth rate with low death rate
(d) Low birth rate with low death rate
Code :
1) (@), (b), () (d) (2)  (a), (b) and (c) only
(3) (a) and (c) only (4) (b), (c) and (d) only
63. Which of the following Award is being given to a State or UT which has appreciably improved
Child Sex Ratio by the Ministry of Women and Child Development ?
(1) Kishori Shakti Puraskar (2) Sabla Puraskar
(3) Nari Shakti Puraskar (4) Kishor Balika Puraskar
64. Assertion (A) : Family support and encouragement are the essential facilitative factors for
women to aspire for entrepreneurship.
Reason (R) : Women have to priortise family as personally defined norms and feel
pressurised to balance home and business.
Code :
(1) Both (A) and (R) are correct and (R) is correct explanation for (A)
(2) (A) is correct, but (R) is wrong
(3) (A) is wrong, but (R) is correct
(4) Both (A) and (R) are correct, but (R) is not correct explanation for (A)
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65. Which of the following is considered “Economic Abuse” in “The protection of women from
domestic violence Act, 2005 ?

(a)  Prohibition or restriction to continued access to resources or facilities which the aggrieved
person is entitled to use.

(b) Disposal of household effects, any alienation of assets whether movable or immovable.

(c)  Deprivation of all or any economic or financial resources to which the aggrieved person
is entitled under any law or custom.

(d) Continued access by the aggrieved person to her Stridhan or any other property jointly
or separately owned.

Code
(1) (@), (c) and (d) (2)  (b), () and (d)
3) (a), (b) and (c) 4) (a), (b), (c) and (d)

66. Which of the following goals are the correct explanation of the Sustainable Development
Goals 1, 3 and 10 ?

(1) No Poverty, Good Health and Well being, Gender Equality
(2) No Poverty, Zero Hunger, Reduced Inequalities
(38)  Zero Hunger, Good Health and Well being, Reduced Inequality

(4) No Poverty, Good Health and Well being, Reduced Inequalities

67. Assertion (A) : Girls are often more susceptible to all types of violence and vulnerable to
sexual violence.

Reason (R) : Girls should behave themselves and should be conscious of their dress.
Code :

(1) Both (A) and (R) correct but (R) is not correct explanation for (A)

(2) (A) is correct and (R) is wrong

(3) (A) is wrong but (R) is correct

(4) Both (A) and (R) are correct and (R) is correct explanation for (A)
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65. ‘=q) féan 9§ wAfgened o daw sAfufrem, 2005 < siaria fefafeaa § & fea * enfefe 3cfted’ am
S ?

(a)

=fora =afe o1 o Gt 2 giaensti & ST S 61 & ¢, S a Had Ugd 1 Giave a1
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|
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e (a), (b) ¥R () 4)  (a), (b), () ¥R (d)
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)
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68. Gender performativity according to Judith Butler includes which of the following ?
(a) Stylized repetition of acts, imitation or miming of the dominant conception of gender
(b) Biologically or culturally there is nothing essentially male or female
(c) Gender is constructed through one’s own repititive performance of gender
(d) Gender is constructed through natural or innate series of acts
Code :
(1) (a), (b) and (c) only (2) (b), (c) and (d) only
(3) (@), (c) and () only (4) (@), (), (©) and (d)
69. Match the List - I with List - II :
List - I List - II
(NGO’s) (Areas of Work)
(a) MA]JLIS (i)  Delhi based resource organization works on issues of
masculinity, gender, reproductive and sexual Rights
(b) Vimochna forum (i) Mumbai based NGO providing legal counselling by
for Women’s Rights women Lawyers and activists
(c) Anveshi Research (iii) Banglore based NGO provides emotional and legal
Centre for Women support along with gender training
(d) Centre for Health and (iv) Hyderabad based NGO draws on the legacy of feminist
Social Justice (CHS]J) theory works on critical studies and issues of dalit,
minorities etc.
Code :
@@ (b) () (d)
1) @ @ @ 0
@ O @ @) @)
@) (v G @
@) @ @ 6 W)
70. Which of the following conditions need to be fulfilled for the Prenatal Diagnostic Techniques
to be used under the PC PNDT (Prohibition of Sex Selection) Act, 1994 ?
(a) Age of the pregnant woman has to be less than thirty five years
(b) The pregnant woman has undergone two or more abortions
(c) The pregnant woman has been exposed to potentially teratogenic agents such as drugs,
radiation, etc.
(d) The pregnant woman or her spouse has a family history of mental health or physical
deformities
Code :
(1) (a>, (b) (©) and (d) (2) (), (b) and (d) only
(3) ) and (d) only (4) (b), (c) and (d) only
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68. Jfed TR i ITUR ik Foaenan (SeX Wwiftfefae) # fre=fafed § 9 = wiha 82
(a) SE @ STEETHIOE RGN, el i TE STaURMST 1 TR AT Thdl HLAT |
(b) Sifoek =1 Hikhfask gfte 9 AfTawia: H1E g&9 a1 Afeen T2 g |
(c) Tt =afad gr foreht St 1 9R-9IR Yevi & | & SeX o1 i g g1
(d) i =1 o wnvifoss &9 & A Fedl S SAdsid @ & T H I g

(1) & (a), (b) 31 (o) (2) A (b), (o) A (d)
(3) A (), (c) 3R (d) 4) (@), (b), (o) ¥R (d)
69. T - I 1 Tl - 11 3 &Y gaferd S
et - 1 Tl - 11

(TSR3 ) (=T &)

(a) W™ () foool feuq dameM Ged, S weiA, Sy, Yod 3R ifieh

TRl ¥ Gaiferd Gef & & o el i g

(b) o=, afeen il (i) s oo TS0, S Afeen gentall $iR siswdist & SRy
¥ fog w= LA TR YSH T |

(c) oo, Afgemstl o foaw (i) STele feor A3, S SeX ufrer wfeq weds ik
STEUH AT TR U R |

(d) TR HR TeY TS W (iv) eevds feod TS e, S Aiardt fagid s W & STTER
ey (fL.EwEs.) aferd, STeTsEeh! oNf 9 Heifta Hewayul st ok 45 &

et 1 HL B

<<
@ () () (d

() G (@) @) (@)

(2 @ @@ @) (v)

(3) (v) (@) @) (@)

(4) (@) @@ @ (@)

70. HEHLH A (fein ==m ufquy) sifufm, 1994 & sfarla ygfd qa Sie derienl sl S9anT feg
S o for frefafed § § o ol &1 U fRe S w1 eTraershar 2 © 2
(a) T TG i 3W 35 I § HH ST A6 |
(b) Tt Afgem & < A A F A T B Gk B |
() Tfadt Hfeen &1 T RN Tsiew 9 foh siferd, fafewor snfe & wwuh & a1
(d) Teferdt Afgen a1 35k ufd & uRar # Amfaes e a1 wiies fasfa @1 sfaem @ an

?&1_)6: (a), (b), () ¥R (d) (2) 9 (a), (b) 3R (d)
(3) W (a), (c) ¥R (d) (4) I (b), (o) IR (d)
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71. Which of the following Institution implements Stand-Up India Scheme ?
(1) National Small Industries Corporation
(2) Small Industries Development Bank of India
(3) National Bank for Agriculture and Rural Development
(4) National Skill Development Corporation
72. Assertion (A) : The Caste System is a pattern of graded inequality of social groups whereby
the status of women remain unaffected.
Reason (R) : Caste System is structured on hierarchical division of society which has
been legitimized through religious sanctions and ideology.
Code :
(1) Both (A) and (R) are correct
(2) (A) is correct but (R) is wrong
(3) (A) is wrong but (R) is correct
(4) Both (A) and (R) are wrong
73.  Which of the following purposes are correct with regard to ‘Nirbhaya Fund’ ?
(a) to enhance the safety and security for women in the country
(b) to create eight safe cities for women safety in public spaces and quick response system
to create deterrence against crime
(c) to establish ‘She Teams’ of women for surveillance and “one stop crisis centres’ for
quick response to women in distress and risk
(d) to protect children from physical violence abuse and physical exploitation
Code :
(1) (@), (), © and () (2) (), (b) and (©) only
(3) (c) and (d) only (4) (b) and (d) only
74. Which of the following perspective explains that gender inequalities exists because people
act towards each other on the basis of meaning they have for each other, and that these
meanings are derived from social interaction ?
(1) The Feminist Perspective
(2) The Conflict Perspective
(3) The Functionalist Perspective
(4) The Interactionalist Perspective
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frefafaa § 9 -9t deen @ 379 3fedl A &1 HEoaT Hidl 82
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(1) (), (b), (c) ¥R (d) (2) a (a), (b) ¥R (c)
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75. Assertion (A) : NGOs have the potential of being more effective agents of development
than Governmental agencies, at least when working with or attempting to
reach the poor.

Reason (R) : NGOs are independent and can afford to take risks in areas which
Governments and Inter-Governmental organizations consider too politically
sensitive.

Code :

(1) (A) is correct but (R) is wrong and is not the correct explanation for (A)

(2) Both (A) and (R) are wrong

(3) (A) is wrong but (R) is correct

(4) Both (A) and (R) are correct and (R) is the correct explanation for (A)

76. In which of the following Five Year Plans, for the first time in the history of planned

development in India, the empowerment of women was adopted as one of the objectives ?

(1) 9t Five Year Plan (2) 10t Five Year Plan

(3) 8t Five Year Plan (4) 7™ Five Year Plan

77. Match the List - I with List - II :

List - I List - II
(Authors) (Books)

(a) Vandana Shiva (i) Capabilities, freedom and equality : Amartya Sen’s work

from a gender perspective

(b) Rachel Carson (i) Staying alive : Women, Ecology and Development

(c) PearlS. Buck (iii) Silent spring

(d) Bina Aggarwal (iv) The Good Earth

Code :

@ () © @

V) @ @ @) 6

2 O @) @) (@)

G) @) @) @) @

@ O @) (v) (i)

78. Which of the following schemes provides financial assistance upto I 10 lakhs to women

entrepreneurs for setting up of the new industrial venture in Small Scale Sector ?

(1) Anna Purna Women Entrepreneur Loan Scheme

(2) Stree Shakti Package Women Entrepreneur Loan Scheme

(3) Mahila Udyam Nidhi

(4) Cent Kalyani Women Entrepreneur Loan Schemes
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4)  (A) 3R (R) T T 91 (R), (A) T T LA

frafafea 8 @S- dgadia 9o 8 9ra & feifsa foem & sfaem § veell ar afgen
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(3) &l deEta Al CVEIRECLREISE
et - [ 1 Gl - 11 % |1e gaferd i
it -1 it - 11
(e ) (T )
(a) @i e (i) <hUfAfaelS, TieH TS saaTaie] : 3T UH o TiF T SieX
RS
(b) = HEA (i) I TARA : FHA, TS Te feaadHe
(c) Ud TH 9F (ili) HEeie foT
CIEEEEEIS] (iv) TS &Y
<
@ (b) (9 (d)
1) @) @) @v) (@)
2 @ @) @) (i)
3) @) @) @v) ()
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Frafafad 9 & E- A o STaid oy STRT & | T8 Sir=iifieh e Tefud ohad o o Afea
ST 1 T 10 ARG T &1 faia FeEd 98 & Sl § 2
(1)  T=qun Afger ITH K01 A1

(2) Siwfa Yopst Afee et T Arer
(3) wfeen Sem fAfy
(4) He weamh Afee STH /1 S
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79. Which of the following contributes to masculanisation of sex ratio in India ?
(a) Sex Selective Abortion (b)  Morbidity
() DEMARU (d) BIMARU
Code :
(1) (@), (), © and () (2) () () and (d)
(3) (@), (c) and (d) (4) (a) and (d) only
80. Which of the following is correct about ‘Multistage Sampling’ ?
(1) Sampleis selected at various stages and each sample is adequately studied before another
sample is drawn for it
(2) Sample is selected in various stages but only the last sample of subject is studied
(3) Sample is selected from population which is divided into small units or sub-units
(4) Sampleis selected from population which is divided into two or more mutually exclusive
segments based on some categories of variables
81. What is the significance of hypothesis ?
(a) Itleads to reliability and validity
(b) It helps collecting useful facts
(c) It sets the direction of research
(d) It contributes to formation of theories
Code :
(1) (b), (©) and (d) only (2) (@), (), (©) and (d)
(3) (@), (b) and (c) only (4) (), (b) and (d) only
82. Which of the following agency has been established as a result of the new chapter on Adoption
included in the Juvenile Justice (Care and Protection of Children) Act of 2015 ?
(1) Central Adoption Agency
(2) Central Adoption Resource Authority
(38) Integrated Child Protection and Adoption Agency
(4) Adoption and Protection Resource Authority
rorsss [N 2 Fapec




79.

80.

81.

82.

IRA | feTara gesi & 981 § e § frefataa § 9 fhae Jrem § 2

(a) T =TS e (b) T

() T (d) s

e

(1) (@), (O), () 3 (d) (2)  (b), () R (d)
3) (@) () R (d) (4) o (a) 3R (d)

Frafafad o 9 o ‘ ag=relt giieyH, & Ha9 § 9 § 2

(1) e gfaest &1 == fafvs =xol # foran S § aen Yok iaeel o1 9aie eTeed i
e 2 foRet g ufaeet w1 ste & fod o s 7

(2) wfaest o1 = fafi ==l § foren S € g fowa o e sifom wfaeel o stea feran S
2l

(3) W wmfe § yfaest o1 = fohan S § ot St sheal stan 39 sehedl § fawifaa foran
SR |

(4) | wHfe § yfaest &1 == foren s © et favsm =1 6t o Afmel W enefa St ereman
31 gREIfieh ®9 ¥ Tehifdes @el § foman Siran €1

qfeheqAT st Tefehdl 1 § 2

a) 399 favagHiadr iR Sear 3= gl 7 |
b) I8 SYANT AT o HURY § TRl It ¥ |
€) IE ITTHYM Ht fwn 7= HA T

d) = fagid & i § drem w3 7

EE:
(1) e (b), (o) 3R (d) 2) (@), (b), (c) ¥R (d)
(3) A (a), (b) 3 () (4) % (a), (b) 3R (d)

frfafead § ¥ ford ToiEt 6t TAT9 a9 2015 o fh9IR =1 (F= 1 <@-1@ T§ Hem) Afufem
T T 1A iieha fohd S & giomm ey g § 2

(1) hETT SO TS TSIE

(2) <hE ek TEU1 HHIEA fHhR

(3) AT ST WX TS Sah U0 TSielt

(4) T ULV TH GO HHIYT IR
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83. Who claims that “women’s oppression originated in the introduction of private property, an
institution that obliterated whatever equality the human community had previously
enjoyed” ?

(1) Friedrich Engels (2) Karl Marx (3) J.S. Mill (4) Rosemarie Tong

84. Which of the following organisations are associated with HRD Ministry ?

(a) INDEST (b) National Book Trust
(c) National Bal Bhavan (d) CBSE

Code :

1) @) (b) () (d) (2) (@), (b) and (c) only
(3) (a) and (b) only (4) (c) and (d) only

85. Arrange the following levels of equality in ascending order, stated in the Women’s
Empowerment Framework of Sara Longwe.

(1) Welfare, Access, Conscientisation, Control
(2)  Access, Welfare, Conscientisation, Control
(3) Conscientisation, Access, Welfare, Control
(4) Welfare, Conscientisation, Access, Control
86. Which of the following are correct statements about Rashtriya Madhyamik Shiksha Abhiyan
(RMSA) ?
(a) Providing free and compulsory education to high school children
(b) Increasing the high school enrollment rate from 52% to 75%
(c) Providing secondary school within reasonable distance from any habitation
(d) Providing free secondary education to all
Code :
1) (@) (b) (0 (d) (2) (@), (b) and (c) only
(3) () and (d) only (4) () only
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87. Match the List - I with List - IT limits.

List - I List - II
(Women Entrepreneurship Scheme) (Credit Limits under Mudra Scheme, 2016)
(a) Shishu - (Mudra) (i) I One crore
(b) Stand-up India (i) 50000 to X 5 lakhs
() Kishor - Mudra (iii) < 50000 for initial stages
(d) Tarun - (Mudra) (iv) 10 lakh for well established enterprise
Code :
@ (b) (o) (d)
1) @) @ @ @)
(2 (@v) @ @ (i)
G) @) @) @) @
@4 Gv) @ (@) ()

88. Which of the following indicates that The World of Advertising is a highly gendered ?
(a)

It reflects often stereotypical assumptions

(b) Being a woman and man is an important identity for people
(c)  Objectification of women’s body is the core at advertisement
(d) Advertisement re-inforces the social construction of gender
Code :

(1) (@), (c) and (d) only () (@), (), (©) and (d)
(3) (a) and (d) only (4) (b) and (c) only

Read the passage given below and answer the question Nos. 89 to 94.

The UN places access to information technology as the third most important issue facing
women globally, after poverty and violence against women. Gender disparity is already entrenched
in many sectors with women in a disadvantaged position particularly in developing countries like
India. A series of factors, including literacy and education, language, time, cost, geographical
location of facilities, social and cultural norms, and women’s computer and information search
and dissemination skills constrain women'’s access to information technology. As a result, few
women are producers of information technology, whether as internet content providers,
programmers, designers, inventors, or fixers of computers. In addition, women are also
conspicuously absent from decision making structures in information technology in developing
countries. From the gender perspective therefore, inclusive democratic participation and
governance, entails issues of women empowerment and gender mainstreaming of public policies,
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including ICT Policies and Programmes. Many people dismiss the concern for gender and IT in
developing countries on the basis that development should deal with basic needs first. However,
IT can be an important tool in meeting women’s basic needs and can provide the access to resources
to lead women out of poverty. While technology is not a panacea for women’s problems in
developing countries yet it offers new possibilities for women in economic, social and political
empowerment. In the context of knowledge society and information economy, it is essential that
the knowledge - sharing mechanism, recognizes the value of knowledge possessed by women and
includes their knowledge as valuable addition to the global knowledge pool. Because of their
biological and social roles, women are likely to be more rooted than men in the environment and
more aware than men of the social, economic and environmental needs of their own communities.

89. According to UN, which of the following are significant issues that women all over the
world are facing ?
(1) Gender disparity, Access to Information Technology, Poverty
(2)  Access to Information Technology, Poverty, Violence against women
(8) Poverty, Violence against women, Inclusive democratic participation
(4) Gender disparity, Political empowerment, Poverty

90. Assertion (A) : Gender disparity is observed in many sectors with women in a disadvantaged
position in India.

Reason (R) : Social and Cultural norms in the country constrain women’s access to
Information Technology, education and vocational skills.

Code :

(1) (A) is wrong but (R) is correct

(2) (A) is correct but (R) is wrong

(3) Both (A) and (R) are correct and (R) is correct explanation for (A)

(4) Both (A) and (R) are correct and (R) is not correct explanation for (A)

91. Which of the following areas, women largely remain absent in developing countries ?
(a) Decision making structures in Information Technology
(b)  Production of Information Technology
(c) Providing of Internet content
(d) Programming, designing and fixing of computers.
Code :
(1) (), (b), (c) and (d) (2) (a)only
3 only (4) (b) and (c) only

) (b
vorsss | ITHANNAN .




Tfeenel i AR Sl 1 g0 T H T Fecequl HIEE o Tehdl § qe1 Afeensii &l Tet g FH 6
fore damert a UgT SuTTs A Fehdl © | Iy HrenfiTeh! fosRranier 3 i afeened % faw uw quem
T& § TR oft a8 afeensti & snfefe, amfse TR TsHifaes Teekienor & fau 98 et 3cde it § |
I SUTRA FHIS SR G STenia stefereee & Hew 1 Ig s1ferd ¢ fof I e e Haaedh o afgensi

% TTE 3T I h Ae@ I TR HY 3R Ik I 98T I o &9 § Afeeh I & 9 S |
Afgattsli | 79T Siforeh 3R AT YfHeRtatl o IR0 JE6I S STH&T T SRl ¥ SRl S[S 8 i
HUTeAT Bt § T A STIT THEE i AR, ST SR qafaR Heet Sedl o o H qEEl S sTden
ST STTEeh Bielt € |

89. UK T & ER R fava # wfgensii &t frafafead § § SF-§ meequl g 1 91 631 18 @l
€2
(1)  <AfTeh ST, G Wikt qeh uge, et
(2) g HrenfiTeRt q% ug, TS, Afsenedi % i e
(3) Tel, wfgatel & Ufd fed, FHmerel cehdifeh qrieR!
(4)

AR STHATT, TSTIdeh HIekiTehIuT, et

90. 2R (A): IRA H oifTen STTFaT 2 &l | <t St & fored Afgand s feafa # €1

q&h (R): < T AR SR HiEhae AMS Y1 dreitient, e o) et st
T Afecteil & uge | o I

<< :

1) (A) 7o ®, fohg (R) &t ® 1

1) (A)
2) (A) & T, o (R) TTo@ B |

3) (A) 3R (R) Sl W& T 99 (R), (A) FT T ARAT T |
4) (A

4)  (A) 3R (R) IH T& € 91 (R), (A) Ft T =A@ T B

91. faermaelier 2 # weea w § Frafafad fea asi § afead faer & ved €2
(a) = UrEfiTeRt H fola e deiet wemnet # |

(b) = YRRt < Scaed H |

(c) T Thee ITaTe A H |

(

d) TR URNfHT, fesmefH ok Ikt 7va & H |

<<
(1) (@), (b), (c) ¥R (d) (2) HIA (a)
(3) wad (b (4) HaA (b) 3R ()

)
vorss [ ITNANENI o



92. From Gender perspective, what is necessary to involve for inclusive Participation and
Governance ?

(a) Gender mainstreaming of Public Policies
(b) Gender budgeting of Public Policies and Programmes
(c) Gender mainstreaming of ICT Policies and Programmes

(d) Issues of Women Empowerment

Code
1) (@) ®) () (d) (2)  (b), (c) and (d) only
(3) (c) and (d) only (4) (a), (c) and (d) only

93. Why do some people feel concerned for gender and IT in developing countries ?
(1) Technology is a panacia for women’s problems in developing countries
(2) It can offer new possibilities for women in economic, social and political empowerment
(3) IT can level gender in-equalities

(4) IT can bring independence and prosperity to women

94. Assertion (A) : Women are more aware that men of the social, economic and environmental
needs of their own communities.

Reason (R) : Women, being lesser educated than men have little concern for IT jobs and
are more interested in the communities for fulfillment of their psychic
gratification.

Code :

(1) (A) is correct but (R) is wrong and (R) is not the correct explanation for (A)
(2) Both (A) and (R) are correct and (R) is the correct explanation for (A)
(3) (A) is wrong but (R) is correct

(4) Both (A) and (R) are wrong
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Read the passage given below and answer the question numbers 95 to 100 :

In the context of feminism, concepts like “autonomy’, ‘“freedom” and “choice” can be read only
within the historical context of their utterance. It is important to recall that the language of self-
reliance and non-alignment of a pre-liberalised era also, stemmed from a desire for freedom and
dignity. Issues of class, caste, tribe, poverty and social justice formed an intrinsic part of feminist
struggles in India, both in colonial and independent India. Autonomous women’s groups which
emerged in the 1970s debated with women’s organizations of the left about the centrality of class
in the latter’s formulation, a matter which tended in their view to obfuscate the specificity of the
women’s question. Both groups have moved a long way since then. While left groups have played
a visible role in the women’s movement, autonomous groups have increasingly taken up questions
of economic deprivation and matters of class. The Dalit women’s movement in turn has expressed
dissatisfaction with upper-caste women activists in both the left and the autonomous women’s
movements. But the core concern with social justice and in-equality however defined, has remained
constant. In contrast, the popular representation of feminism in the media reflects a retreat from
questions of class, caste and social justice. Quite clearly, feminism is read here as a matter of the
individual women’s right to choose. The woman concerned is either the corporate woman or the
high -powered consumer. A deliberate break is saught to be made with the women’s movement,
but the language used for the construction of her image is often appropriated from the women’s
movement. One noticeable example is the way International Women’s day is marked in the media.
If has been traditionally celebrated by women’s organizations and other political forces that aligned
themselves with democratic and progressive forces. We now have a riot of ads with the specific
day’s messages appearing on 8" March every year.

95. Which of the following is correct in terms of forming the base for self - reliance and non -
alignment in the Pre - Liberalised era ?

(1) Centrality of class issue (2) Desire for freedom and dignity
(3)  Self interest (4) Autonomy and freedom

96. What is the core concern of women’s organisations and autonomous women’s movements
which remained constant ?

(a) Gender equality and development

(b)  Social justice and inequity

(c) Freedom and autonomy

(d) Freedom and choice

Code :

(1) (a)only (2 @and(®)  (3) (b)only (4) (@ and (©)

97. Which of the following questions were taken up by autonomous women’s groups ?
(1) Class and Caste issues (2) Class struggle and Social justice

(3)  Self reliance and Non-alignment (4) Economic deprivation and Matters of Class
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W Aigen Gel 3 arguel Afeen el & e § ol st hewiadl & 9R H aruel e el & |
&Y Y, 3ok foaR H 9% Tk UH1 A o1 S Afgeisii o Je i fafirsedr ol o7oue hdl ot | 3 SHi 98
TS H TR S o b © | Aruell Heggl  AfeeT ticier # T YfHen 91 2 Seifsh e §el 7 S
o ¥ Heifea gl 3R o o HIell bl Jg-9¢ 33T ¥ 1 etk afetd Afea STicle A amyelt $iR @
Tfget AieHl B S=-d ot Afgel Hrihdist & IR § STHdY o far g1 qenfy, gmfes == iR
STHHHAT o 9K § 7ot far o1 F=fy qRefia foran T € W 98 o1d q o1 g8 ¢ | 59 ol Hifean 8
IRIATE 1wk iy gfafafce o, sifa siR wmfstes =g & 99 9 1 e yefvia = 81 I% foega
T ¥ T IRl ARIATE 1 STerT-3TenT Afecnsii S T6s % SIfHHR & WHel & §9 H el S ¥ | =i Heifed
TfEeT A1 1 Teh HRURS Tfect § a1 = AIHR e ST & | Al TS i S-S ST i
St €, W 3Tt fa s % ferg frg o 61w foman s ® o e Afgen Stidier ot g o S B
T GOTt IS0 Hifean # SR afeen fead 7w S 61 alehl €1 9% U8 afeen el sik qeHfas
Tl §RI TWRATT ®9 § HAE1 <t W@l © f=ia <iehditiss 3R wifaeiiet sicil o1 GaefA {1 81 o1e 30 =8
@d g foh o 8 AE I T foiw fea® o Hew <0 3¢ THEA fomm fouw < €1

95. TE-3ER I H STcATRar 3iR T[e Fderar & foru seR s9m &t gfe 9 fr=fafed § 9 sF-91 W
wH7?
(1) o daet g8 i we=rad (2) TEqHdT IR TRAT HY STHTET
(3) @A fed (4) T SR W@

96. 1 TSI TR e Afeet STiie| ot shia-§ go foar feer ot g8 82

AR FHFaT 3R faeshm

Afect
)
) IS = SR STEH
)
)

(a
(b
() T iR T

(d) T IR TEE

<< :

(1) %9 (a) (2) (a) 3 (b) (3) e (b) (4) (a) ¥ (9)

97. @ Hfgen el gr1 frefafad § | fead deifyd ge=i =l Semm 2
(1) = iR Sfa & 77 (2) o HEd SR " =
(3) oTrew fAeiRar oIk Te-Fruera (4) oTfefes S= SR o Hadh g
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98.

99.

Assertion (A) : The popular representation of feminism in the media reflects a retreat from
questions of class, caste and social justice.

Reason (R) : Media is concerned with issues of grass-root women and work for their
justice.

Code :

(1) (A) and (R) are correct

(2) (A) and (R) are wrong

(3) (A) and (R) are correct but (R) is not the correct explanation for (A)
(4) (A) is correct and (R) is wrong and not the correct explanation for (A)

Which of the following formed an intrinsic part of Feminist Struggles in India ?

(a) Women's equality for political participation

(b) Gender and Poverty

(c) Equal Remuneration for equal work

(d) Class, caste, tribe, poverty and social justice

Code :

(1) (a) only (2)  (d) only (3) (a) and () (4)  (b) and (d)

100. Which of the following is correct with regard to Dalit Women’s Movement ?

(1) Dalit women’s movements were happy with autonomous women groups initiatives
(2) Dalit women movements were satisfied with the concerns of the women'’s organisations

(3)  Dalit women’s movement worked together with the concern’s of autonomous women'’s
groups and left oriented women’s movement

(4) Dalit women’s movement has expressed dissatisfaction with upper-caste women
activists in both the left and the autonomous women’s movements

-00o0-
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98.

99.

100.

afaeRe (A) . Hifem # TRl &1 Akt gfafafie o, sfa oik wrfsies =m & geai § e

T TSI T § |
q&h (R): ifgan S W) ot afgensti & 48 33w © iR 3% =@ % forg & s ® )
e
(1) (A) 3R (R) < =&t 1

2) (A) 3R (R) S Temd
(3) (A) 3R (R) BFI T € fhg (R), (A) T W& ==& & 2
(4)

4)  (A) T 2 IR (R) T4 € AT (R), (A) FT T =0 T B

Frfafed § ¥ &M 9Ra § Aanet e 1 e1fve fewmr /92

(a) TSHfaeh FiGRT H Afgenstl st THHa

(b) i AR T

(c) H9H % & faw g9m wfigfis

(d) @, Sfd, ST, T SR wmifse =

<

(1) 9 (a) (2) e (d) (3) (a) FR (o) 4) (b) 3R (d)

Sfera wfeen sfiqed & o) § fafafed § § SF-91 S 9§ 2

(1) <fod wfeen sicer TR Afgel THE! i Tsal ¥ 56l 9|

(2) <ot Afgen g Afeel Wl & TUhRl & Hqe 9|

(3) =fera Afeen oTidier 3 T Afgen THEl SR ardelt afeen stidier % SRRl & WY fieres
CIRRERIN

(4) <fera Afeen sTider 7 amde SiX @Ed S 8 YR & Afee Sk § S-St & Afed
Hdharetl o o o A9 e fohan |

-00o0-
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Space For Rough Work
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